3 1 0
AD [ BTk —A BF4E) -y EBAFTEFC—C
BTk —A 1--0 2--1 6 3 2 1
BFAEY)-Y 0--1 2--3 0 2 -2 3
EBAFTEFC—C 1--2 3--2 3 4 0 2
B O Ik B 4 EZJlIsc—cC MAF4%E 10—
Ik B 4 0--0 5--1 4 5 4 2
EJllIsc—cC 0--0 8--0 4 8 8 1
B F45E(10- 1--5 0--8 0 1 12 3
AT O FCHEEB FMF6EA EJIISC—A
FCHEEB 3--1 2--3 3 5 1 2
MTF6EA 1--3 2--2 1 4 -2 3
ZJIISC—A 3--2 2--2 4 5 1 1
B O s HEA EBATFC—B sz EH 5
A B6A 0--2 1--3 0 1 -4 3
BAFEFC—B 2--0 3--0 6 5 5 1
EE5 3--1 0--3 3 3 -1 2
BAFAEY)-Y 2--0 MAF4E 10—
EBAFBEFC—C 3--1 Ik B 4
BTE il —A 1--1 FEJlIsc—cC 1--1 PK4 3
FT6EA 2--2 BEFHBA PK4 3
FCHEEB 2--2 I 5 PKO 2
EJIISC—A 2--4 EATFC—B




